KINGRGGON
KL.Pi
RiEHNEIRIERF

Quick Disassembly Guide Card K.NGRoom

XYZHifEHi Unlocking XYZ Axis

Z—%: BTFYHINEEETIRZ -8 NTXHENBERETEIRZ F=H: RTFZHAKRZR LNREEERZ
Step 1:Remove the silver-colored fixing Step 2:Remove the silver-colored fixing Step 3:Remove the silver-colored fixing
screws from the X-axis. screws from the Z-axis heated bed support.

screws from the Y-axis

- :
73 E . .

HEHFIE Assembly Guide

FNEH: HF2SRFFE, FRE: HAISHREIPE, ERE:
EMITMABLGEFEEE2S]R L, ERMA* B LGEFEEEISHR L. ERAM3* 6B LGN EE TN BEE
ER4A M M3*6IR 22482 SR E E N TRED. {ER4ANMM3* 6122263 SR E EENSIER. Step 7:Use M3*6 screws to secure the filament
Step 5:Peel off the protective film from Board 2. Step 6:Peel off the protective film from Board 3. holder at the back of the machine.

Use 1 M4*6 screw to attach the handle to Board 2. Use 1 M4*6 screw to attach the handle to Board 3.

Use 4 M3*6 screws to secure Board 2 on the top of Use 4 M3*6 screws to secure Board 3 on the front

the machine. of the machine.

M4*6-1PCS M3*6-4PCS

T LS sl

M4*6-1PCS M3*6-4PCS

RSN
AES|SFXRE TG AR, EXTNHISHERUEDRNEFREE RRREEES,
ATREBFHNITENNE, BFRBIRBBETFRESHEHEA.

Notes:
This quick guide is only for pre-printing preparation.
Before printing, make sure to consult the electronic or paper version of the instruction manual on the USB drive.




1. BENEERRE T RAEERNEER FEUWRRIENESELEE M.

1. Do not operate the motherboard and adapter board while the power is on. Non-professional users should not modify configuration files
without proper knowledge.

2. AFFMITEN A —EERFHNEBERAK L, SN RESELTRAA R C(ZBEREF X RN ERE, SO RIREHNE)

2. Before homing and printing, make sure to place the magnetic sticker on the heat bed; otherwise, the nozzle may collide with the heat bed and cause
damage. (The Z-axis proximity switch can only detect metal, so it is necessary to place the ma icker.)

3. RRNEDRBEERE, .
RS SRR (B BEEETaRM ST xsun, ases G-l
RN E BRI |, SEEEEREMEY, .

2 mmensEm(Emes), A Rl owun Bl onn Rl e RABREE A0, SHEEREENOENTREERNENLNE, BENEERY,
AR5 47 i SR ST AR AE

3, Itis not recommended to manually plug and unplug the filament. When loading the filament, follow the instructions to preheat the extruder and then feed
the filament. When unloading the filament:

1, Click loading Filament( automatic filament feeding), pls thread the high-speed printing filament through the filament sensor and feed it to the extruder.
Click Control—>Extruder—Load Filament. Wait for the touchscreen to display the target temperature.Gently push the filament toward the extruder wheel and
wait for filament to be extruded from the nozzle.

2, Click Unload filament( Automatic filament unloading), Click Control->Extruder—>Unload. This process will take about 5 minutes.

Wait for the target temperature to be below 60C or the blower to antomatically turn off, then pull out the filament directly.

Pls do not power off or perform other actions during this process

4. ATITENR BEAKingroon=RITENFEY, HEFE=ABRITHFEM ERE=FZETNEM TS5 R MR,

ERAE=AEMNNE ITNEEESRIAMIEMZ LNEEEERE, —RBER THINSERETERLY BEYBEITNEERE BEITHNRE, LI EE HIEMITENRE .,
4. For better printing results, please use kingroon high-speed filament or third-party high-speed filament.

Using third-party regular filament may cause other issues. When using third-party filament, refer to the temperature range on the filament spool for printing
temperature settings. In general, if you encounter bubbles or severe layer lines, you can try reducing the printing temperature or decreasing the layer thickness.
If there are layer adhesion issues, increase the printing temperature accordingly.

5. SA3DITEHNAEL BIHELETNE. NREEEGS—REMRETNIREESXEERNR, Ao itaE.

5. Each 3D printer has undergone testing before leaving the factory. It is normal to have a small amount of filament residue in the nozzle or tasks in the print
queue, and it will not affect performance.

6. IRERBREENERBE —RBERTEH BLPBR ERNSBE ERHREEFER, PE220V ZR110V,BEREUEENENAN, KRNBIR110V/220VEIT[iFE,
MREATHRNBESSHEBRMERRE, B—ERE,

6, Forinitial use, please check your operating voltage. Usually, the machine is adjusted to the correct voltage at the factory. However, in case of international
usage, such as China (220V) or the US/Japan (110V), you can adjust the voltage on the right side of the machine case by switching the power between 110V
and 220V. Using the wrong voltage can cause damage to the power supply and motherboard, so please make sure to check.

7. RETENBESMHURSAREHN MURFEENRE, BZEXN T EEBINNBGAURBITHRE, MRATRERENE, TR ERESZ R P BENRNF[NHEFER
FEBERER.

7, Fast printing requires high-frequency movement of each axis, resulting in some noise. Additionally, this mode requires stronger cooling to ensure printing
quality, which is why high-speed fans are used. You can refer to the manual to modify the driver's silent mode or high-speed mode according to your needs.

8. AFRMEANSYEATEANET, BNETFALEFTERARRENARNESE, —RE—KENEE, BHTENBTE, UERLRAFNSE, FRERAKE
BEERESR.

8, Before using the product, it is essential to perform automatic bed leveling. Before the automatic bed leveling process, adjust the nozzle and bed offset value,
which is generally the thickness of a piece of paper. Then proceed with the automatic bed leveling process. You can use the provided card as a reference.
For detailed instructions, please consult the user manual.

d,

SENFEM SESMERDRIEBINEER,

HWAEH

Nozzle Nozzle Nozzle

5= XK= 55

(Z Axis=0.1-0.2mm Correct) (Z Axis>0.2mm Wrong) (Z Axis<0.1mm Wrong)




